2020 £ EBRAR F2@ @REH
53 N £ O 3 1= O 5 O 3 1= O 1 I 5 23 N 5 I 15 B 11 MM [— —
Atf\ﬂimz:~ t X #H W = :é |
2 1 ® i
7 o= 7 A4 A4 LU oa vy v A 7 P —
%ﬁ c 4 =
3 T
: 9
] b ,’ﬁiﬁ
X 5 5 4 4 4 3 3 #
4 4 4 4 4 = 3 v m oHA B OB o ®m o o®HmE =2 & R
= O = =T~ G~ WA |
i)
- ®
! 2]
& Eii
% &
) 2
R ®
R o
] iy
i)
<
] ®
5 W
&
vy
o)
=
Fr
=
%
2
5 &5
=
53 3 O 3 £ A 53 A
NoH WM = = —
W4 v 7@ A
YA
Z <
D
~ X
< 7
~ ¥ 5 4 3 3
N R OR R R
5
=1
5
=1
(2)
D
4
#
VY

i o1



2020 FRE

ERAR F2@H BEH

(%

2] 100 HiEA
() 27x3%y3  (2) —-3-6V5
5 9
<4>X:_ﬁ’ y=7 (5)
W11 @ = @ 65 @
18 )

(1) A(=2t,2t?) 458 (2
(1)24/3 44 (2 1++5 5
(1 3 (GBY) 4: 2)

(3)

x=3,5

4 (&)

A(-2V2,

Mo®)

27(GEY)

+DE—-—1D(E—2a)

£ 4 5 X5

(5) x=40 (6)

4) 5. (B y=146

5 5
12+34\/_ 55 (4) 240-!-380\/—

54  (3) 1000GE@EY)

6 R

£ 5 X6

6 =

6 A



2020 fFFE BERAR F2E REH

(%

EE] 100 mid A

(a) fever (b) true (c) quiet (d) juice (e) Hurry 2 XS

(@ 4 b) 3 (¢c) 2 d 1 (¢) 3 1 X5

(@ 3 (b) 4 (¢c)1 d 1 (¢) 3 2 XS

(a) A cannot/can’t H too (b) 1 called 2 because

(¢) A Each I has (d) A line = turn

(e) { to o every 1 8X10
@4 5 76 ®GGAFA1 724 (@A 3 =7 2 3AX3 (5BE)

It is (X13 was) kind of you to see me off at the station. 58

(@ 2 (b) 3 (c) »> boy[son] = girl [daughter] (58%) (d) 3
(€) PO TOMETIIAARNTIIEOFER LB LMAICHST-DIZ, DT 2 0OFBROMETHKDOTF
ERRLM DB E D209 s, (60 F)
@2 (1 ®m2 3 8 (EKNF)
@3R OFBFT2H (e4A E3IR, 2R

(@ NCEEDTIC, ITBWETANTHD ANND Z &, (255F)
b) 3 ()4 @d 1 () 223=>1 (%)
) 2 (gsound () 1 3 8 (JERRF)

@38 () BETIH (MEF3IN, F2 R



